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“ecall: Yesterday we learned that if a triangle is a right triangle, and you know two of its side lengths, then you
. an find the third using the Pythagorean Theorem. However, could we use the Pythagorean Theorem to
—determine if a-triangle is aright triangle-or not? This is called the converse of the Pythagorean-Theorem-—

The Converse of the Pythagorean Theorem A

If the sqiuaré of the length of thé Iohgest side of a triangle is
equal to the sum of the square of the lengths of the other two
sides, then the triangle is a right triangle. Leg ()

Hypotenuse (c)
(biggest length)

If a® +b> = ¢?, then AABC is a right triangle.

Do the given side lengths form a right triangle? Explain why or why not. (Remember, the hypotenuse will
always be the longest length)
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If the sides of a triangle do not form right triangles, then there are two other options. Either they could be acute
triangles or they could be obtuse triangles. It turns out that when numbers are substituted into the Pythagorean

Theorem, there is a way to tell if the triangle will be acute or obtuse.
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Classifying Triandles l\

In AABC with the longest side c: o AN,
If a> +b% > ¢?, then AABC is an ACUTE triangle. > ACUTE

If a®> +b% =¢?, then AABC is a RIGHT triangle. Rl GHT _
a® +b? < c?, then AABC is an OBTUSE triangle. < OBTUSE




Classify each triangle as acute, right, or obtuse.
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9.  Asteel pole 150 emin 3e_nglh has been placed in the T
ground ready for cement to seal it in place. To check to é
see if it is perpendicular to the ground, the contractor //
has measured a distance of 180 cm {rom the top of the 180 em /
pole to 80 cm from the base of the pole on the ground. /
Is the pole pe;pendmﬂm to ’rhe omund/
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10. If the two legs of a right triangle are 4 and 6, what is the ength of the hypotenuse’iKﬁp your answer in
£
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